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IB Math A&A SL

Lesson 6.1B — Graphs of Cosecant and Secant

l. Warm-Up
1. Evaluate the following:

a. csc (%n) = b. sec (%n) =
1. Graphs of Cosecant and Secant

2. Graph y = sin(x) below.
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C. cot(?n)

Graph y = cos(x) below.

3

3

2w T4 -3m2 5w e 3ma w2 w4 0 wa w2 3u4d m smi4 3m2 T4 21 -2m -Tmi4 -3mi2 -S4 - 3m4 w2 w4 ™A 2 - 3m/4 T S5mwi4  Jm2z  Tm/4 2T
A -1
*Now use your 2 graphs to graph cosecant and secant.
Graph y = csc(x) below. Graph y = sec(x) below.
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I11.  Practice — Graph the functions below. Be sure to include two full periods.
3. f(x) = 3csc(2x) 4. f(x) =3sec(mx) — 1
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5. f(x) = —2csc(x + g) 6. f(x) =—2sec(3x — %)

2T -7 -3mi2 -Smi4 - 3mi4 - -mi2 -4 0 w4 n2 3n/4 T smi4 3wz T4 21 2w -7m4 32 54 - -3mia - -T2 £/ 0 w4 T2 3m/a T 5mi4  3m2 T4 1




